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Fourth Semester B.Sc. Degree Examination, March 2020
| First Degree Programme Under CBCSS |
| Co_mp.l'ementary Course
PY 1431.1 : MODERN PHYSICS AND ELECTRONICS

{For Méthematics) '
(2018 Admission)
Time : 3 Hours ' _ .- _ - Max. Marks : 80
SECTION-A
| An.swer aI_I_qL;estions in one or two sentenceé. Each question garries 1 mark.
1. | Name the spectré! series of hydfbgen atom in the visible region. -
2.. Write the Schrodinger equation in time independent form.
3. Define packing fraction.
4. Write Plank's law of black body radiation.
5. .What is the origin of leakage current in a pn junction diode.
6. Define current amptlification factor in common emitter configuration. _'
7.  Whatis ripple _facfor?

8. Write down the truth table of NAND gate.

P.T.0.



9.

10.

The BCD equivalent for 37,4 is
What is De Morgan's theorem?

(10 x 1 = 10 Marks)
SECTION - B . |

Answer a'ny ‘eight questions, not exceeding a paragraph.' Each gquestion carries
2 marks. ' '

11.
12.
13.

14.

15.

16.
17.
18.
19.
2.
21

22,

Draw the input and output characteristics of Common emitter transistor

configuration. What do you infer from these characteristics?

The mass of nucleus is always less than the sum of the masses of its nucleons.

Sketch construction and working of half wave rectifier. Sketch its output wave
form. - ' '

What is Zener diode? How its characteristics differ from an ordinary diode.

Which of the foliowing wave functions cannot be a soiutions of Schrbdinger‘s
equation for all positive values of x? Why not (a) v = Ae* (b) = Ae™.

Briefly explain any two inadequacies of classical mechanics.

Explain ac and dc load line.

Wirite a short note on nuclear spin and nuclear magnetic moment. .

‘What are various guantum numbers in vector atom model?

Explain the laws of Boolean Algebra.

' Ué_ing 2's complement subtract 11011 from 10101,

Draw logic implementation of an AND gate and OR gate using NAND gates.

(8 x 2 = 16 Marks)
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23.

24.
- 25.

- 26.

27.

28.

29.

SECTION=C

Answer any six questions. Each question carries 4 marks.

“An electron is contained in a one-dimensional box of width. 1.0 nm. Calculate
energy of electrons for the level up to n = 4.

Write a short note on Radioaclive equilibrium.
Find the binary and decimal equivalent' of (a) (17E)s (b) (762)s
Dréw dc ic}ad line. Calculate operating point if Vge = 0.7 V and j=500.

+20V

3.3k0

+10V

The four semiconductor diodes used in a bridge rectifier circuit have forward
resistance which can be considered constant at 0.1 Q and infinite reverse
resistance. They supply a mean current of 100 mA to a resistive load from a
sinusoidally varying alternating supply of 20 V rms. Determlne resistance of the .
load and efficiency of the CII'CUit

In a fransistcir employed in common emitter configuration, the base current is
68 uA and current gain is 440.Find Collector current and Emitter Current Also
find the current gain in common base confi guratlon -

Calculate  the blnding energy of an o  particle in Joules.

- Mass of o partlcie 4.03188 u and Mass of proton = 1.00728 u, Mass of neutron

= 1.00866 u.
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30.

31.

Simplify the following Boolean expressions
(a) ABC+ABC+ABC+ABC
(b) AB+AC+B

A 9 volts stabilized voltage supply is required to run a car stereo system from the
car's 12 volt battery. A zener diode with V, = 9 V with P, = 0.27 Vis used as a
voltage regulator. Find the value of the series resistor if the load reS|stance is

450 Q.

- SECTION-D

Answer any two. Each carries 15 marks. ‘

- 32

33.

34,

38.

What are the essential features of Bohr atom model? Derive. expressiohs for the
radii of stationary orbits for electrons and the tota! energy of electron in the orbit.
Discuss the origin of the spectral series of hydrogen. .

What are the basic laws of radlo activity? Denve an expression for mean Ilfe and
half life of a radioactive element. :

With the help of neat diagram expiain construction and working of'a_single stage
~ transistor amplifier. Hence explain frequency response curve, gain and band

width.

Discuss the normalization and probability interpretation of a wave function. Give
physical interpretation of wave function. Obtaln Schrodinger steady state
equanon

(2 x 15 = 30 Marks)
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Fourth Semester B.Sc. Degree Examination, March 2020
First Degree Programme Under CBCSS
Complementary Course for Mathematics

ST 1431.1: STATISTICAL INFERENCE
(2018 Admission) |
Time : 3 Hours - - Max. Marks : 80
SECT!ON -A
Answer all questions. Each qu.estion carries 1 mark.
1. Define consistent estimator.
2. Define maximum erlihood estimator.
- 3. Discuss what you mean by confidence coefficient.
4. Describé P-_va!ue;
5. Define type | error, -
6. Describe null hypothesis...
7. Define power of a test.
8. Define critical fegioﬁ.

P.T.O.




10,

ldentify composite hypothesis in the following
(@) Ho:p=00=1in N{po?)

(b} Ho:A<10 in P(A)

(c)- Ho:y=0in Nlp,o?)

Define chance causes of variation.

(10 x 1 = 10 Marks)
SECTION - B

Answer any eight questions. Each question carries 2 marks.

1.
12.
13.

14.

15.
16.
17,

18,
19.
20,

21.
22.

Describe sufficient statistics.
Describe relative efficiency.

State factorization theorem. Mention its uses.

Prove that in sampling from normal population with mean g and variance ¢?,
sample mean is a consistent estimator of population mean.

State Néymann — Pearson lemma.
Distinguish between one tailed and two tailed tests.

A sample of 900 members has a mean 3.4 and standard deviation 2.61. Is the
sample from a large population of mean 3.25 at 5% level?

A sample 15 values shows the standard deviation 6.4. is this compatible with the
hypothesis that  the sample is from a normal populatzon with standard
deviation 5?7

Discuss the test procedure for testing the significance of single proportion based'
on large samples. ' '

Obtain the maximum likelihood estimator of y based on a random sample of size
n from N{y,1).

What are the assu_rhptio'ns used to conduct analysis of variance.

Explain the term randomization.
(8 x 2 = 16 Marks)
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SECTION-C

Answer any six questions. Each question carries 4 marks.

23.

24,

25.

26.

27.

28.

29.

30.

- 31,

Le_t(x” x,,X,) be three independent observations drawn from a population with
mean y and variance ¢’ . Consider the following estimators. - -

=X, + X, —Xx;;f, =2x, +3x, —_g_xa'
Are t, and f, unbiased estimators of ;? Which one is more efficient?

Examine the consistency of sample variance based on a random sample of size
n drawn from N{y,0” ) when

(a) Sample size is small.

(b) Forlarge samples.

Describe the method of moment estimation.

Critically examine how interval estimation differ from point estimation?

Obtain the 100(1-2)-1- confidence interval for the mean of normal population
when variance is unknown.

Discuss large sample test for testing the Signiﬁcant difference of two proportions.
Discuss y?-test for goodness of fit.

Height of 10 males in a given locality are found to be 70, 67, 62, 68, 61, 68, 70,
64, 64, 68. Is it reasonable to believe that average height is greater than
64 inches (at 5% level). '

Explain how will you control experimental error using replication.

(6 x 4 = 24 Marks)
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SECTION-D

Answer any two questions. Each question carries 15 marks,

32.

33.

34.

35.

(a)' Find a sufficient estimator of o® based on a random sample of size n from
N{o,0° ). Also find the 100(1- «)% confidence interval of o%,nN(0,0?).

(b) Find the maximum likelihood estimators of ? and ¢” based on a random
sample of size n from N{p,0?).

(a) Describe small sample test for testing the difference of means of two
independent normal populations.

(b) Below are given the gain in weights of Pigs fed on two diets A and B. Test -
whether the two diets differ significantly with respect to their gain in weight.

Gain in weight
DietA 25, 32, 30, 34, 24,14,32,24, 30,31, 35,25
Diet B 44, 34, 22, 10, 47, 31, 40, 30, 32, 35, 18, 21, 35, 29, 22
(a) Discuss F-test for testing the equality of two variances.

(b) Discuss the additive model and hypotheses to be tested in a two way
ANOVA. ' : '

Describe y’-test for independence of attributes out of 8000 graduates in a town
800 are females. Out of 1600 graduate employees 120 are females. Use y*-test

" to determine if any distinction is made, in appointment on the basis of sex.

(2 x 15 = 30 Marks)
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- Fourth Semester B.Sc. Degree Examination, March 2020

First Degree Programme under CBCSS
Mathematics

Core Course - lli

MM 1441 — ELEMENTARY NUMBER THEORY AND CALCULUS —II

(2018 Admission)

Time : 3 Hours . o . Max.._Marks : 80

SECTION -1

All the first ten questions are compulsory. They carry 1 mark each.

1.

2
3.

4.

Determine the number of incongruent solutions of the linear congruence
12x = 18(mod 15). | _'

State true or false. “If a® = b*(modm), then a = b{mod m)”.

Determine whether 327723 is divisible by 6.

State Fermat’é Little T.heorem.

I r{u, v)=(1-u)i +[(1-u)cosv]j+[(1-u)sinv]k, then find g—: and ‘(;)_r |
_ . _ . v

Find a parametric representation of the surface z = 4 — x* - y2.

P.T.O.




10.

1
Evaluate |x“y dy .

Let T be the transformation from the uv-plane to the xy-plane defined by the

equations x = %(u +Vv), y= %(u—v). Find T(1, 3).

Determine whether the vector field F(x,y)={y + x)i +(y — x)j is conservative on
some open set. ‘ -

Wnte a formula for a general inverse- square field F( ) in 'terms' of the radius

vectar r.
(10 x 1 =10 Marks)

SECTION -1l

- Answer any eight questions among the questions 11 to 22. These questions carry

2 marks each.

11,
12,
13.
14,
15,

16.

17.

Prove that if a = b{mod m), then a" = b"(mod m) for any positive integer n.
Find the remainder when 11+ 2!+ . + 100! is divided by 15.

Using inverse, find the incongruent solutlons of the linear congruence
5x = 3{mod8).

Find the least residues x such that x? = {mod 8).

Evaluate {{(40 - 2xy)dy dx.

— v, [0
et

Find the volume of the solid enclosed by the surface z=x/y and the rectangie
0<x<41<y<e lnthexy-plane

Find the Jacobian alx.y) of the transformation x = rcosé, y = rsiné.

alr.0)
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18,

19.
20.

21.

22.

Use a double integral to find the area of the region R enc!osed between the

parabola y _%x and the line y = 2x .

Sketch the vector field F(x,'y) —yit X,
Find | divF and curl F for the vector field F(x,y,z)= x*i + y2j + z%k.

Evaluate the line integral _[(xy +2%)ds (1 0,0) to (~1 0, 7r) along the helix C that

is represented by the parametnc equahons X.=costy =sint,z=t, 0< t <.

Let F(x,y)l= (ye —1); + xe"”j Find a potential function for F. .
. : - {8 x 2 =16 Marks)

SECTION —lli

Answer any six questions among the quest:ons 23 to 31. These questlons carry
4 marks each.

23.
24.

25.

26.

27

28.

29,

Prove that no mteger of the form 8n+7 can be expressed as a sum of three .
squares. : _

Using the Pollard rho method with x; = 2 and f(x)=x? +1, find the canonical
decomposmon of 3893. '

Find the least positive integer that leaves the remainder 1 when divided by 3, 2
when divided by 4, and 3 when divided by 3.

Sh'ow that the congruence reiation is an equivalence relation.

Use a polar double integral to find the area enclosed by the three- petaled rose'
r =sin36. :

Flnd the surface area of the portion of the paraboford Z= x + y below the plane
=1 :

Use a triple integral to find the volume of the solid within the eylihder x2+y?=9
and between the planes z = Tand x+z=35.
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30.

31.

Find the WOI’k. done by the. force ﬁel.d F(x y) ( y3J1+(Cosy+x )jon a

particle that travels once around the unit C|rcle x +y =1in the counter

Clockmse direction-using Greens theorem.

S(Jppose that a semi-cir'cular w_ire has the equation y'= V25-x? and that its
mass density is 5(x,y) =15 - y . Find the mass of the wire.

(6 x 4 = 24 Marks)

SECTION IV

‘Answer any two questions among the questions 32 to 35.. These questions Carry

15 marks each.

32.

33.

34.

35,

State and prove Euler's theorem.

- Find the remamder when 18! is divided by 23.

Find the volume of the solid enclosed between the . paraboloids
z= 5x% +5y% and z=6-7x% - y2.

. : 3 V9-xZ 9-x? y2
Use cylindrical coordinates to evaluate | | I x? dz dy dx .
' . 3 _ 9—x2_

Evaluate j_[ e dA, where R is the region enclosed by the lines y = -%_x and

y = x and the hyperbolas y = 1 and y = 3
: - 7 x X

Evaluate the surface integral H'xz dS over the sphere x? +y? +z2 =1.

o

~ State Dlvergence Theorem and verify it for the field F = xi + yj + zk over the

2 2

: spherex +y +2z°=a

Suppose that a curved lamina o with constant density 5(x,y,z)=_50. is the

 portion of the paraboloid z = x2+y? below the plane z = 1. Find the mass
- of the lamina. | |

(2 x 15 = 30 Marks)
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Fourth Semester B.A./B.Sc. Degree Examination, March 2020
First Degreg Frogramme Under CBCSS
LANGUAGE COURSE: READINGS IN LITERATURE
Common For B.A./B.Sc. EN 1411.1 (Language Course Vill} -
And Career Related 2(a} (Language Course Vi} EN1411.3

| (2015 Admission Onwards)

Time : 3 Hours Max. Marks : 80
[.  Answer all questions, each in a word or @ sentence.

1. Why is the boy ‘creeping like snail’ in ‘All the World is a Stage'?

What does the title ‘La Belle Dame Sans Merci’ mean? |

Why does Ulysses think of leaving his kingdom?

What has caused insensibility among sqldiers?

Where is the essay ‘Tolerance' taken from? |

What, according to Einstein, is the noblest motive for scientific research?

What was the persistent legend spun' around Nehru's relation with the Prince of
Wales?

N o o ke N

What is Umkhonto we sizwe?

®

9.  What reason did Vera give for the sudden exit of Mr. Nuttle?
10. Why was the cat named Sherlock?

(10 x 1 = 10 Marks)

P.T.Q.




11.

12,

13.

14,

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

Answer any eight questions in a short paragraph not exceeding 50 words
Shakespeare s views on the stage of the soldiers.

Resolution and [ﬁerseverance of the leech gatherer.

The employment of Greek myths on ‘A Prayer for My Daughter’.

The impact of the constable’s visit on the narrator.

The difference in the attitude of the poet and his neighbour in ‘Mending Wall’.

Sacial prescriptions on the use of language in ‘An Introduction’.

The idea of ‘cosmic religious feeling’ as enunciated by Einstein.

The two solutions to deal with people whom we dislike, as proposed by

E.M. Forster.

Twao of the most persistent legends about Nehru.

The dilemma of Dr. Raman regarding the illness of Gopal.
The bet between the Banker and the youngman.

The reason for Chechi's dejection after receiving the call from Jayanf.

(8 x 2 =16 Marks)

Answer any six, each in a paragraph not exceeding 100 words

The Knight's love for the beautiful lady.

The significance of Arnold's statement- “Let us be true to one another”.
The implication of the dictum “good fences make good neighbours™.
Tolerance as a practical replacement far love.

Einstein’s account of three types of religions.
2
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28.

29.

30.

31.

32.

33.

34.

35.

Poverty and misery of the Airicans in South Africa.
Longing as a theme in 'Yellow is the Colour of Longing’.
The ending of the story ‘'The Open Window'.
Cat as a prominent character in ‘Sher!o.ck’.
(6 x 4 = 24 Marks)
Answer ahy two in about 300 words

Describe the seven stages in human life as portrayed in ‘All the World is a

Stage’.

Comment on the atmosphere of oppression and fear in ‘A constable Calls’.
Explain J.B. Priestley’s arguments favouring idling.
Evaluate R K. Narayan's craftsmanship as evident in ‘The Doctor's Word'.

(2 x 15 = 30 Marks)
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Fourth Semes.ter B.AJB.Sc. Degree Examination, March 2020
First Degree Programme Under CBCSS
Language Course (Additional Language IV) — Hindi
HN 1411.1 - DRAMA, TRANSLATION AND CORRESPON.DENCE
(2017 Admission Onwards)

Time : 3 Hours Max. Marks : 80
. @ e 5 e R s e e
1. o dean &= fFw ffwfiwm e?
2. T el % FeH! U SR T AW Sd15U
3. e feamti o mv H g R ot €7
4. fomfeam & uv &)y guen S5 -H 27
5. ‘l am unable to go the to market' = fz=<t s1gar Rl
6. ‘A bolt from the biue’ %%Qggaa%:ﬁaﬂaﬁ%ﬁm
7. ga-orge U st F From' % Ty wr = § fong wreT ot i fa e 27

8. ‘Letters of Enquiry’ & fi7g v &= weg|

P.T.0.



9.

10.

11.
12,

13,
14,

15,
16.
17
18.
19.

)

21.
22.
m
23.

24,

:\ S
AN

‘Commercial Letters’ % i i & T UG Tled dhid—H] 27

S oupm g s Wl H oWl i g S wmg wt o wdl @ ow ad — a8 fEEe wmem 27
(10 x 1 = 10 Marks)

fresferfiaa 5 4 TRl o3 531 & 3T e 50 71631 H feriae

51 Teamti o w4 s1fiveaes = qHfEeRar &1 fagm fifsg)

s1 k1 i -Femm ey

STTATE et Wobr o Tl €7 amese

AT i ST 3 WA

SFATE U e S i T o - el e 2 e o7
é@aﬁ%m,m%waﬂ@méﬁn?ﬁﬁm

T S % Tefae o7 Fmesror 9 S w i

TS T T T T R (3 ST T 3T S &

Hi w5 @ 90! fas-fa<de s wdmar Fi g widi 27

.“W%éﬁﬁw—%{amwﬁaa?ﬂmﬁﬁé, e & ot €1 o 1€ et s ) 8 ol et @ et

S 117 — =arey ity

o 5 el e T AT o T e 27

wosfl v 3 A qmmmmwammuw | (8 x 2 = 16 Marks)
ﬁmﬁf@aﬁﬁﬁiﬁ TEHT o I B 12031@131%#@11!

e Sfia T e H1 R 7

@E%@mwwﬁﬁﬂ—%aﬁmmﬁwaﬁq?
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25

206.

27.

29.

30.

31.

32.

33.

34,

35.

TeF T2 AR T LI o T E T e 4 T T

s A7 Tl kT SR i F e

T, BT T A e o, ve T FET ==t

“FE T O AL T2 AT A g oA s 7 e @ fe g smen of) A ad - s i)
S BT T7A ] ATHEER F WS i (A <4 T UF TR A fay

Z0F, AUFR 3 TR Siwma o= fofav

T -faam &1 gfe v fem Teandd & ov = geares iiaw) (6 x 4 = 24 Marks)
fir=gi ) Wl % I°R Terfiagw) i@ 250 wedi 4 |

‘fémﬁanﬁ%w’ﬁ Tfvsae Jies wuen s 1 favere Eifer)
:w%mﬁ%mwwfﬁmaﬁaﬁ%m%ﬁﬁﬂaﬁﬁm

st e @ g BEE TR ) gy o e T iy

fAmteriiad e =1 et 7 srgan Hifaw)

Many of you will be known for your discoveries and inventions. But the University
has to train year after year such cards for building free India in which want,
squalor, ignorance and disease must be unknown. In- this great task of cadre-
making the teacher has a vital role to play, for teacher is the carnerstone of the

- arch of education, he is no less, if not more than books and curriculum, building

and equipment, administration and the rest.

(wfga n1&k : University - fawa frreg, Squalor - sima, Ignorance - s@m, Disease - sfarl,
Cadre making - g fmfu, Arch - f=wa, Curriculum - yizries, Administration - weraa)
(2 x 15 = 30 Marks)
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Fourth Semester B.AJB.Sc. Degree Examinaﬁon, March 2020
 First Degree Programme unde.r.CBCSS
Malayalam Language
Language Course — Additional Lahguage 1\
ML 1411.1 — spreallaiawo, MAQIEME.2IM, @onmomesmowo.
(2018 admission)
Time : 3 Hours | : | Max. Marké - 80

. &ay uossiean aomonuull 06n8) QdE:|ETHIGRID HBDRODELIB)E:.
1. 0RIRISEOLl (oG EIBRIOS M PEICTIG:H0W alB@E:N0 ag)esRamm@IeT?

2. & lodio @ecauariioflg @uailad atoemmailog afcadlesomenn £FINOEMBDI MEREMISUD
@om@o @oOUGLaMlemTsemy) @2 1deamm allamena?

3. 0blEed el g eRIBMmeRAImon?
4. Genius agm alcewm DAIIBETHCRIE ag)suBem mdl@bnsaag:;sg,mw?
5 ovejooesngelo agym Qe & o lemow snoglad ®BERM af)K3@)e:.

6. Where there is a will there is a way oMM aveemog] QRIRDSETGRIR
ISR LIS | ' |

7. allasemosealoalsy doalmemld anmm alpeenelaomos?

P.T.O.




10.

11.

12.

13.
14.

15.

16.

17.

Precis agyrm atossiled ma@ogoﬂmémmaémﬁ?
WWW - mgt%sép}@mmmrrﬁ?
aalwogeewell af)Rmleman?

(10-x 1=10 Marks)
80} 6)_|.6TTqu]<ﬁ:(D)'!m% Bl woa®m ag)3) E-LIBYETTIT HEDOEDF®)bs. |
(FUOLUJODPIIOGG)&QB:.

B manid @U@ A 0SleR6H6NE DEKOElenes aygad-neniaileane-wo
aflemodlaleni® salomenaameoie e2lglges ealooem all awmemd mowd.
Hpdlescelo mmEnl dnlaseanmoonlamiecslale, awmyemd mowden &alnw
oewogleadloyme  1986-@ mooammgtrgonmrﬁ’i am  Hal®  elmiladledleam
cmoas@oem. afg Ulanadflmesld 20 agulaumien? @oadlal agemeiigasyeiale
s0@oeeMMENEd @alles @pdlmscilesndo.

BRO©o Qfla YAIBODN®E:

" IS Yaltomo Mnde BalBe

moglaio MMEHQIES quayave”.
MBROGHMDIOS HOCNSOBOT?
@omeasalagorare mallcratdmenaeamg)do?

Face is index of mind, Brevity is the soul of art - seiwogeieaig) afllademme
625 QY1ch. '

snogflofieeipy a Idledaner |SiEmy.
&smis], eeimsalsl

OUNBROWIOS (MRBHILIAITVSEN.
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18,
19.
20.
21.

22.

-23.

24,

25.

26.

27.

28.

OOMEICISEHOE] p@EEETIOMR avesaean?

goidemyiad Qme@owmmga@gm? -
m%ﬁmow \DETBUD csmaﬁsg,rm mmggm’ig’}cea@ a@;)ﬂﬁ)g:)o?
OUQEDAT ag)m TVOMAN IMOAL jo.
agio.sl. Wes frﬁrﬂmm@mﬂm‘d L0 D} I0OEHIBYMEMETENN?

| © (8 x 2 =16 Marks)
mygflallogaley aosesiad ;alwoem apoy ealos o DODOOD LY. -
C;Jocea S0 21mEEd gyallesnsnz o0 Jms}gaﬂmgpo? fld]den@lesnydss.

melémogmzfﬂe%g_ie@wﬂoes)gﬂn {aom aflamemid Lm&@ow&uommr_o 40 mell
@l 2 IWE SO, - '

MBPITRHGEW rooEIUSl e aflafw ﬁ)O‘ﬁJDJ%):iOégﬁa(ﬁ aflcodlesdlenie.
ZMATNWIo o) OB GAfleas eimuo Allvdledlene.
ael@ogemiealg ala1demme 6.01Que:.

Amazon.com., i1s an American multinational technology company based
in Seattle that focuses on e-commerce, cloud computing, digital
streaming, and artificial intelligence. It is considered one of the Big
Four tech companies, along with Google, Apple, and Facebook.

snogglaxdleaip) o IGlEonHeQ|SIEMIH:.

H0leomaants0llowsndlal  @regeoeTliog  @oeleemd  @REknED | 0RO
ghafl o floyernaudiad EBEPESM  BaMje  og) RS ILEEHEmEEME  @REGROETHINT
S0LIGERYe  Bomdalleosnmmicewie  all@papmermale  (EEREMIse®le  &ydla]
@eclapmadlay eajod wdwow ey modyaydla). #afoelneenicl.aSleymaiog
oeom®le  aflel g0 iIEagIe®m OO 80w O®IETIEEeME.
eagmiiaoysma@omem  ofleim mm(mmaﬂmgeumgowgoﬂdlaa&mg @BEGaOEVEIOH
gl 0 1Al@EIEY @M@ AlBHMIMHOETBRIC EOEMIIMYENE.
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28.
30.

31.

32.
33.

34.

35.

ssallaflaud 210meyeses momjatlasmpufino afleldoyames.
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